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7a (2 mwp) > 8b (K1 85 7175 790K 1237)
Note: although 1-1 1112290 are presented here, only the material in J:X is addressed in this section; as such, we’ll present 1-7 5173¥p in their location

I 2 mwn: R"™’s four women who have rule of inyw 17 - "n%n2” pregnant, nursing, nypr
a w7 only heard n%n3, but concedes that na%n follows 8™

i
ii

Nr1272: R™ argues that absence of tradition isn’t evidence = all 4 included

Practicum: ruled like ywn» 7 while 8" was alive; after he died, they restored original ruling (x"2)

1 Reason: if we ruled like X" while alive, we would follow other rulings of his — but he was nIna (01 n”2)
(a) And: while alive, we couldn’t stop that, due to 723 for him; could stop them posthumously

II  Tangent: rulings that follow 8™
a x4 places where we rule like 8™

i
ii
iii

iv

vi

Ours: we allow for nyw 7 for these four women
wpp: if a woman goes into labor and then ceases, then delivers during naw ' — if she “ceased” for 24 hours — 1ra nov
7ar ar npp>7x if nar/ar checked on day #1 and day #7 (only) of 0»pi 1 — and were clean
1 ~77: they have status of nnv
2 ywp /7. only have 2 days of N1V —need 5 more
3 y”r only have last day (1% day is lost)
(a) Final ruling (»01 “11 ©”9): R"’s position more reasonable than »4’s; ™1’s most reasonable — but 8" na%n
D25 71108 back side of vessels that became &nv via liquids
1 N7 itis o'pwn RNVN — even of 19IN; not YOa foods — even of NMIN
2y 7. Rnon liquids and Y019 foods
(a) Argument:1"p from Dy M2av
(i) If: »mav, who isn’t Rnvn liquids of 150, yet is Y010 food of nmn
(if) Then certainly: backs of 093, which are Xnvn liquids of 1>, are Yv1a foods of NN
(b) Response (877): D 1NR NRMV is 13277, but »"1v is n”nn — and we can’t make a 1"p from RN»PIRT (10N) to 11277 (Op)
(i) Explanation: n"nn, neither food nor liquid can be »55 ®nvn; but 1327 were a1 as precaution against nar/ar npwn
1. Therefore: they limited the nan to liquids, which are more likely to become ®nv, not to food
(c) Question: why did they make the n71 on the back of the *53 only?
(i) Answer: since *93n ™MK NRMV is “lighter” — per 1:13 Y3 (doesn’t impact on rest of *93) — need for N
Question: what is YR1nWw teaching? Each of these indicates X"12 1250 in the mwn itself
1 Proposed answer: teaching about 0’930 »1nR, where the ruling (in accord with ™) isn’t explicated
(a) Block: if so, why not just state that na%n follows ®" in that case?
2 Rather: teaches that we cannot rely on such statements (...> N2%0) in the mwn
Challenge: there are other disputes where we rule in accord with 8"
1 Example: n:» miny — in the case where 2 brothers are married to 2 mmim’, one of whom is mvop
(a) If: husband of n%1mx dies, X" (contra 3) rules that we coach the mvp to declare pxon (thus nullifying that marriage
and removing NWR-MNR impediment to 0127); YRNW indicated that we rule in accord with 2198 "
2 Answer: Yrnw’s dictum is limited to manv (only 4 of ®™'s rulings which are na5n); there are many elsewhere
(a) Support: 1:2 non — his ruling that several loaves, taken from oven and placed in 1 basket, are n9n% q7vxn
(b) Question: how is T:2 n'Yn more supportive of the “mInv-only” contention that n:» mna?
(i) Answer: in mn>, (MNWY 12) MYHR "3 concurs (0:3)— perhaps we only rule that way due to 2158 *7’s authority
(if) Challenge: in our discussion there (:vp NMn1) we justified both rulings (i.e. non-identical)
(iii) Rather: X212 12 N7 "3 concurs (per his testimony in &:) n11Y) — perhaps that’s why we rule that way
1. &:1 17y 272 testified to 5 things, including mopn nr parnn
a. Assumption: nop alludes to both rulings — 9158 "7 and »1NWY 12 TYOR "
i.  Block: perhaps mvp is the generic collective
ii. Defense: "nwR”is also invoked there — if generic collective, should be "n»w1”
iii. Rather: mvp refers to both cases and supports ruling in accord with 7158 7
iv. Note: therefore we needed support from T:1 n9n to substantiate “manv-only” theory
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179 12 7195K ’7. 4 places where we rule like 8™ (same as above)
i Challenge: n:» mn2 (which the selfsame n7a 12 9198 "1 ruled like 2158 ")
1 Proposed answer: N9 12 YYR "1 only made his statement in reference to nynv 770
2 Rejection: N9 12 91Y9R "1 evidently meant it universally
(a) Proof: vt y»av identifies several herbs which are under ny»aw restrictions
(i) And:n79’7 (R's son) identified the author as r»or
(if) Subsequently: X117 told him that he and his father, together, were 7'nn these herbs during my»aw
(iii) Inotherwords: if the author is X" and it isn’t one of these 4 — we don’t rule that way (even outside of m1nv)
3 Answer: in mn1, (MNY 12) MR "1 concurs (V:3)- perhaps we only rule that way due to 71y9R '7’s authority
(i) Challenge: in our discussion there (:vp NMn1) we justified both rulings (i.e. non-identical)
(if) Rather: X212 12 N7 "1 concurs (per his testimony in &:) n11Y) — perhaps that’s why we rule that way
ii  Challenge: 2:n0 m372 — R"’s opinion is that we recite n%72n in N*a7y during NkTn N372
1 And: n79 32 91998 1 ruled like 21298 "3
2 Defense (8ax 77): " ruled that way because of Y8911 12 X110 1 (1 generation younger than 1r»9x ")
(a) Per: Rn1 —3"am rules that it is said in nrTN
(b) Challenge: 3"an1 requires (Ymar nwa) a full 18 at 2”0y 'R, in order to recite nY7an in "NYTn 11IN” (not "NRMN")
(c) Answer (»7277): he was quoting his father, but he didn’t agree (and felt it should be said in nrTn)
iii  Revisiting: attribution of 11 ny7aw to MYHR "
1 Challenge /7077 1 to r77: author must be 7198 ', per 1:X 197 — where 8" rules that if someone curdles with sap of an
N5y tree, any nRiN is prohibited (i.e. even deciduous trees are included in ban)
2 Defense: 1:1 moy»7aw could still be 1129
(a) Explanation: they disagree with 8™ (in n%7) about using the sap of the branch, but the sap of the fruit —is 9
(b) Per: ywi» '7's testiony (ibid) — if someone curdles with sap of leaves or roots — 9mn; but the sap of fruit — 1oR
3 Alternatively: 121 disagree with 8™ in case of fruit tree, but a deciduous tree — that is its fruit
(a) Per:w™’s ruling — qup isn’t under ban of ny’aw and onan disagree and see 9vp as under ban of My aw
(i) Assumption: nnan there are 1337 who disagree with 21y9R "
(ii) Correction:per 12m ' — 1327 here is 198 "1 himself, who ruled that sap is 18
1. Challenge: if it is 8™, why mention a deciduous tree — even a fruit-bearing tree’s qop is considered »a
2. Answer: he was responding to his opponents: they should at least agree with him in re: deciduous trees
a.  Their response: they don’t distinguish — qop is never ma
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